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SAMPLE PAPER – 2008
SUBJECT - CHEMISTRY







CLASS - XII

       Time: Three Hours 







Max. Marks : 70
By Sandeep Krishnan email: sandeepkn1@gmail.com

General Instructions

1. All questions are compulsory.

2. Question nos. 1 to 8 are very short answer questions and carry one mark each.

3. Question nos. 9 to 18 are short answer questions and carry two marks each.

4. Question nos. 19 to 27 are also short answer questions and carry three marks each.

5. Question nos. 28 to 30 are long answer questions and carry five marks each.

6. Use log tables if necessary. Calculators are not allowed.
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1. On heating crystals of KCl in potassium vapours, the crystals start exhibiting violet colour. Why? 1
2. The gas phase decomposition of xy follows the rate law, r = k [xy]n. what are the units of its rate constant? 1

3. Give the IUPAC name of the following compound 1
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4. How many tetrahedral voids are there in l mole of a compound having cubic close packed structure? 1

5. What would be the probable plot of conc. Vs time for zero order reaction? 1

6. In each of the following pairs of organic compounds, identify the compound which will undergo SN2 reaction faster? 1
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7. In the ring test for identification of nitrate ion, what is the formula of the compound responsible for the brown ring formed at the interface of two liquids? 1

8. Name two narcotics which are used as analgesics. 1

9. An element A crystallizes in face centred cubic structure. 200 g of this element has 4.12 x 1024 atoms. The density of A is 7.2 g cm-3. Calculate the edge length of the unit cell. 2
10. The following curve is obtained when molar conductivity (y-axis) is plotted against the square root of concentration
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 (x - axis) for two electrolytes A and B.
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(a) What can you say about the nature of the two electrolytes A and B?


(b) How do you account for the increase in molar conductivity [image: image8.png]Am



 for the electrolytes A 
and B 
on dilution? 2

11. How is Fe(OH)3 sol prepared? What happens when a freshly prepared Fe(OH)3 is shaken with little amount dilute solution of FeCl3? 2

12. What is Lanthanoid contraction? Give two consequences of lanthanoid contraction. 2

13. Name the chief ore of Iron. How is pig iron converted to steel? Describe the chemical reaction takes place during this process. 







OR


(a)Although thermodynamically feasible, in practice, magnesium metal is not used for the 
reduction of alumina in the metallurgy of aluminium. Why?


(b) Copper can be obtained by hydrometallurgy but not zinc. Why?    2

14. (a) Amines are basic substances while amides are neutral. Why?


(b) Aromatic amines are weaker bases than aliphatic amines. Why?  . 2

15. Give reasons:

(a) Carboxylic acids do not give characteristic reactions of carbonyl group.

(b)Sodium bisulphate is used for the purification of aldehydes and ketones. 2
16. (a) Why does chlorine water lose its yellow colour on standing?


(b) What happens when Cl2 reacts with cold dilute solution of sodium hydroxide? Write 
equation only. 2

17. Convert: 


(a) ethanol to acetone


(b) formaldehyde to n – butane.  2

18. Give mechanism of preparation of ether from alcohol. 2

19. (a) The same quantity of electrical charge deposited 0.652 g of Ag when passed through Ag NO3, AuCl3 solution. Calculate the weight of gold formed. (Atomic mass of Au = 197 g / mol, Ag = 108 g / mol) 


(b) Predict the products of electrolysis of AgNO3 with silver electrodes.  3

20. (a) A first order reaction takes 69.3 minutes for 60% completion. Set up an equation for determining the time required for 80% completion.

(b)Calculate the ratio of rate constants at 290 K and 300 K for the first order reaction with 
half life periods 20 and 12 minutes at this temperature. 3
21.  Write short notes on the following giving example:


(i) van – Arkel method


(ii) Alumiothermic process

(iii) Liquation
22. Write down the equations for hydrolysis of XeF2, Xe F4 and XeF6. Which of these two reactions is a Redox reaction? 3

23. Draw a sketch to show the splitting of d – orbitals in an octahedral and tetrahedral crystal fields. State for a d6 ion how the actual configuration of the splitting of d – orbitals in an octahedral crystal field is decided by the relative values of (o and P.  3

24. (a) Which of the following will have a higher boiling point? Why? 

1 - Chloro ethane and  2 methyl -2- chlorobutane

         (b)Explain why:


(i) vinyl chloride is unreactive in nucleophillic substitution reactions.


(ii) tert – butyl chloride reacts with aqueous NaOH by SN1 mechanism while n – butyl 
chloride reacts by SN2 mechanism  3

25. (a) Despite having an aldehyde group, glucose does not give 2,4 – DNP reagent test. What 
does this indicate?


(b)Why is benzoic acid stronger than acetic acid?


(c) Why benzaldehyde doesn’t undergo aldol condensation 3

26. (a) What is the role of Benzoyl peroxide in polymerisation of ethene?


(b) What are LDPE and HDPE? How are they prepared? 3

27. Classify synthetic detergents giving an example in each case.






OR


What are antihistamines? Give two examples. Explain how they act on the human body. 3

28. (a) Derive the relationship between relative lowering of vapour pressure and mole fraction of a non volatile solute.

(b) (i) Phenol associates in benzene to certain extent to form dimmer. A solution contains 
20 x 10-3 kg of phenol in 1 kg of benzene has its freezing point decreased by 0.6 K. 
Calculate the fraction of phenol that has dimerised. [ Kf for  Benzene = 5.12 K / m]

(ii) What would have been the vapour pressure in the absence of dimerisation?


(iii) Derive a relationship between mole fraction and vapour pressure of a component of an 
ideal solution in the liquid phase and vapour phase.  5






OR

28. (a) What is meant by positive deviation from Raoult’s law? Explain with the help of 
example.
      (b) Define Henry’s law. Give two of its application.

      (c) 0.1 M solution of K4Fe(CN)6  is 50% ionized. Calculate its osmotic pressure at 300 K.
      (d) The osmotic pressure of blood is 8.21 atm at 37oC. How much glucose should be     
added per litre for an intravenous injection that is at same osmotic pressure as blood. 5
29. Give reasons for the following:


(a) Transition metals have high enthalpies of atomization.


(b) Among the lanthanoids, Ce(III) is easily oxidised to Ce(IV).


(c) [image: image9.png]Felt[Fe? "



redox couple has less positive electrode potential than [image: image10.png]Mnt
M2t



couple.


(d) Copper (I) has d10 configuration, while copper (II) has d9 configuration, still copper (II) is 
more stable in aqueous solution than copper (I).


(e) Mn2+ compounds are more stable than Fe2+ towards oxidation to their +3 state.  5





OR

    29. Give reasons:


(i) Transition metal fluorides are ionic in nature, whereas bromides and chlorides are 
usually covalent in nature. .


(ii) K2PtCl6 is well known compound whereas corresponding compound of Nickel is not 
known.

(iii) Transition metals form a number of interstitial compounds.


(iv) Scandium doesnot exhibit variable oxidation state.  5
30. (a) An aliphatic compound ‘A’ with a molecular formula of C3H6O reacts with phenylhydrazine to give compound ‘B’. Reaction of ‘A’ with I2 in alkaline medium on warming, gives a yellow precipitate ‘C’. Identify the compounds A, B and C. Write the equations involved.

    (b) How will you bring about the following conversions in not more than two steps?


(i) Benzaldehyde to Benzophenone  

(ii) Bromobenzene to 1 – phenylethanol


(iii) Benzoyl chloride to benzonitrile  5





OR
   30. (a) An organic compound ‘A’ with molecular formula C5H8O2 is reduced to n-pentane on 
treatment with Zn-Hg / HCI. ‘A’ forms a dioxime with hydroxylamine and gives a positive 
lodoform test and Tollen’s test. Identify the compound A and deduce its structure.

   (b) Write the chemical equations for the following conversions: (not more than 2 steps)

   (i) Ethyl benzene to benzene

   (ii) Acetaldehyde to butane - 1, 3 - diol

   (iii) Acetone to propene   5
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